

FACTORISING NON-MONIC TRINOMIALS

9 $3x^2 - 17x + 10$

10 $6a^2 - 13a - 63$

11 $3x^2 - 11x - 4$

12 $10x^2 - 11x - 8$

⑨ $mn = 10$ Factors of 10:

1	10	-1	-10	2	5	-2	-5
10	1	-10	-1	5	2	-5	-2

$ab = 3$ Factors of 3:

1	3	-1	-3
3	1	-3	-1

$mb + na = -17$ $m = -2$ $n = -5$ $b = 1$ $a = 3$

So $3x^2 - 17x + 10 = (3x - 2)(x - 5)$

⑩ $mn = -63$ Factors of -63:

3	-21	7	-7	9	-9	..
-21	3*	-9	9	-7	7	..

$ab = 6$ Factors of 6:

1	6	-1	-6	2	-2	3	-3
6	1	-6	-1	3	-3	2	-2

$mb + na = -13$ $m = +7$ $n = -9$ $a = 3$ $b = 2$

So $6a^2 - 13a - 63 = (3a + 7)(2a - 9)$

⑪ $mn = -4$ Factors of -4:

1	4	-1	-4	2	-2
-4	-1	+4	+1	-2	2

$ab = 3$ Factors of 3:

1	3	-1	-3
3	1	-3	-1

$mb + na = -11$ $m = 1$ $n = -4$ $b = 1$ $a = 3$

So $3x^2 - 11x - 4 = (3x + 1)(x - 4)$

⑫ $mn = -8$ Factors of -8:

1	-8	8	-1	2	-2	4	-4
-8	1	1	-8	-4	4	-2	2

$ab = 10$ Factors of 10:

1	10	-1	-10	2	-2	5	-5
10	1	-10	-1	5	-5	+2	-2

$mb + na = -11$ $m = -8$ $b = 2$ $n = 1$ $a = 5$

So $10x^2 - 11x - 8 = (5x - 8)(2x + 1)$

FACTORISING NON-MONIC TRINOMIALS

21 $6x^2 - 29x + 28$

22 $6x^2 - 19x + 14$

23 $6x^2 - 20x + 14$

24 $8x^2 + 2x - 3$

②① $mn = 28$ Factors of 28

1	2	4	7	14	28	-1	-2	-4	-7	-14
28	14	7	4	2	1	-28	-14	-7	-4	-2

$ab = 6$ Factors of 6

1	6	-1	-6	2	3	-2	-3
6	1	-6	-1	3	2	-3	-2

$mb + na = -29$ $m = -7$ $n = -4$ $a = 2$ $b = 3$

So $6x^2 - 29x + 28 = (2x - 7)(3x - 4)$

②② $mn = 14$ Factors of 14

1	-1	14	-14	2	-2	7	-7
14	-14	1	-1	7	-7	2	-2

$ab = 6$ Factors of 6

1	-1	2	-2	6	-6	3	-3
6	-6	3	-3	1	-1	2	-2

$mb + na = -19$ $m = -7$ $n = -2$ $b = 1$ $a = 6$

So $6x^2 - 19x + 14 = (6x - 7)(x - 2)$

②③ $mn = 14$ Factors of 14

1	-1	14	-14	2	-2	7	-7
14	-14	1	-1	7	-7	2	-2

$ab = 6$ Factors of 6

1	6	-1	-6	2	3	-2	-3
6	1	-6	-1	3	2	-3	-2

$mb + na = -20$ $m = -1$ $n = -14$ $b = 6$ $a = 1$

So $6x^2 - 20x + 14 = (x - 1)(6x - 14)$

②④ $mn = -3$ Factors of -3

1	-1	3	-3
-3	3	-1	1

$ab = 8$ Factors of 8

1	8	-1	-8	2	4	-2	-4
8	1	-8	-1	4	2	-4	-2

$mb + na = 2$ $m = 3$ $n = -1$ $b = 2$ $a = 4$

So $8x^2 + 2x - 3 = (4x + 3)(2x - 1)$

FACTORISING NON-MONIC TRINOMIALS

29 $15x^2 - 19x + 6$

30 $3x^2 - 2x - 1$

31 $9x^2 + 9x - 10$

32 $2x^2 - 9x + 4$

(29) $mn = 6$ Factors of 6

1	6	-1	-6
2	-2	3	2
6	1	-6	-1
3	-3	2	3

$ab = 15$ Factors of 15

1	15	-1	-15	3	5	-3	-5
15	1	-15	-1	5	3	-5	-3

$mb + na = -19$ $m = 2$ $n = 3$ $b = -5$ $a = -3$

So $15x^2 - 19x + 6 = (-3x + 2)(-5x + 3)$

(30) $mn = -1$ Factors of -1

1	-1
-1	1

$ab = 3$ Factors of 3

1	3	-1	-3
3	1	-3	-1

$mb + na = -2$ $m = 1$ $n = -1$ $b = 1$ $a = 3$

So $3x^2 - 2x - 1 = (3x + 1)(x - 1)$

(31) $mn = -10$ Factors of -10

1	-1	-10	10	2	-2	5	-5
-10	10	1	-1	-5	5	-2	2

$ab = 9$ Factors of 9

1	-1	9	-9	3	-3
9	-9	1	1	+3	-3

$mb + na = 9$ $m = -2$ $n = 5$ $b = 3$ $a = 3$

So $9x^2 + 9x - 10 = (3x - 2)(3x + 5)$

(32) $mn = 4$ Factors of 4

1	4	-4	-1	2
4	1	-1	-4	2

$ab = 2$ Factors of 2

1	2	-1	-2
2	1	-2	-1

$mb + na = -9$ $m = -1$ $n = -4$ $b = 1$ $a = 2$

So $2x^2 - 9x + 4 = (2x - 1)(x - 4)$